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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 15 rFkk    

iz'u 27 gSaA 

Please make sure that the printed pages in this 

question paper are 15 in number and it contains      

27 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks 

Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij fy[ksaA 

The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 

SET : C 

MAP 



 ( 2 ) 4313/(Set : C) 

4313/(Set : C)   

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 
vo'; fy[ksaA 

Before beginning to answer a question, its Serial 

Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 

Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the 

question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= 
iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 
Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 
entertained after examination. 



 ( 3 ) 4313/(Set : C) 

4313/(Set : C)    P. T. O. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    &&&&    

 (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA 

 (ii) izR;sd iz'u ds vad mlds lkeus n'kkZ, x, gSaA  

 (iii) iz'uksa ds mÙkj muds vadkuqlkj nsaA  

 (iv) iz'u la[;k 27 fo'ofo'ofo'ofo'o ds ekufp= dks Hkjus ls lacaf/kr gSA 

 (v) fo'ofo'ofo'ofo'o ds ekufp= dks Hkjdj viuh mÙkj&iqfLrdk ds chp 

etcwrh ls ck¡f/k,A 

 (vi) ekufp= ij viuh mÙkj&iqfLrdk dk Øekad vo';vo';vo';vo'; fy[ksaA 

 (vii) 5 vadksa okys dqN iz'uksa esa vkUrfjd p;u iznku fd;k 

x;k gSA ,sls iz'uksa esa ls vkidks dsoy ,ddsoy ,ddsoy ,ddsoy ,d gh iz'u  

djuk gSA 

General Instructions : –    

 (i) All questions are compulsory. 

 (ii) Marks for each question are indicated 

against it.  

 (iii) Answer questions according to their marks. 
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 (iv) Question No. 27 is related to filling the 

outline map of the World. 

 (v) After filling the map of the World it should be 

securely tied in the middle of the answer-book. 

 (vi) You must write your Answer-book Serial No. 

on the map. 

 (vii) Internal choice is given in some questions of     

5 marks. You have to attempt only one of 

the given choice in such questions. 

  1. tkiku dk dkSu&lk vkS|ksfxd izns'k ?kuk clk gS \ 1 

 Which industrial region of Japan is densely 

populated ? 

  2. izokl ds nksnksnksnks  eq[; dkjd fy[ksaA 1 

 Write two main factors of Migration ? 

  3. nf{k.k&iwohZ ,f'k;k ds nksnksnksnks vFkZ'kkfL=;ksa ds uke fy[ksa ftUgksaus 

ekuo fodkl dh vo/kkj.kk loZizFke izLrqr dhA 1 

 Name the two South-east Asia economists who 

first put forward the Idea of Human 

Development. 
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  4. vnhl vckck fdl ns'k dh jkt/kkuh gS \ 1 

 Addis Ababa is the capital of which country ? 

  5. if'peh caxky esa pk; ds nksnksnksnks  mRiknd {ks=ksa ds uke fy[ksaA 1 

 Write the name of two producing areas of Tea in 

West Bengal.  

  6. fHkykbZ LVhy dkj[kkuk fdl jkT; esa fLFkr gS \ 1 

 In which State Bhilai Steel Plant is situated ? 

  7. ^vksisd* (OPEC) dk iwjk uke fy[ksaA 1 

 Write the full name of 'OPEC'. 

  8. ^Vªkallkbcsfj;u jsyekxZ* ds iwohZ Nksj ij fLFkr LVs'ku dk uke 

fy[ksaA  1 

 Write the name of the Eastern Terminal of 

'Trans-Siberian Railway'. 
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  9. Hkkjr esa izFke Js.kh ds uxjksa dh tula[;k vkdkj D;k gS \ 1 

 What is the population size of the Class Ist cities 

in India ? 

10. fuEufyf[kr esa ls dkSu&lk ,d ekuo Hkwxksy dk mikxe ughaughaughaugha     

gS \  1 

 ¼d½ {ks=h; fofHkUurk 

 ¼[k½ ek=kRed ØkfUr 

 ¼x½ LFkkfud laxBu 

 ¼?k½ vUos"k.k vkSj o.kZu 

 Which one of the following is not an approach in 

Human Geography ? 

 (A) Areal differentiation 

 (B) Quantitative revolution 

 (C) Spatial organisation 

 (D) Exploration & description 
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11. fuEufyf[kr esa ls dkSu&lk ,d izfrd"kZ dkjd ughaughaughaugha  gS \ 1 

 ¼d½ tykHkko 

 ¼[k½ egkekfj;k¡ 

 ¼x½ csjkstxkjh 

 ¼?k½ fpfdRlk@'kS{kf.kd lqfo/kk,¡ 

 Which one of the following is not a push factor ? 

 (A) Water shortage 

 (B) Epidemics 

 (C) Unemployment 

 (D) Medical/Educational facilities 

12. fuEufyf[kr esa ls dkSu&lk uxj unh rV ij vofLFkr ughaughaughaugha gS \  

1 

 ¼d½ vkxjk  ¼[k½ Hkksiky 

 ¼x½ iVuk  ¼?k½ dksydkrk 



 ( 8 ) 4313/(Set : C) 

4313/(Set : C)   

 Which one of the following towns is not situated 

along the bank of a river ? 

 (A) Agra  (B) Bhopal 

 (C) Patna (D) Kolkata 

13. fuEufyf[kr esa ls dkSu&lk ,d fojy tula[;k okyk {ks= ughaughaughaugha   
gS \  1 

 ¼d½ vVkdkek  

 ¼[k½ Hkwe/;js[kh; izns'k 

 ¼x½ nf{k.k&iwohZ ,f'k;k  

 ¼?k½ /kzqoh; izns'k 

 Which one of the following is not an area of 

sparse population ? 

 (A) The Atacama  

 (B) Equatorial Region 

 (C) South-East Asia  

 (D) Polar Regions 
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14. fuEufyf[kr esa ls dkSu&lh vFkZO;oLFkk esa mRiknu dk LokfeRo 

O;fDrxr gksrk gS \ 1 

 ¼d½ lektokn ¼[k½ fefJr 

 ¼x½ iw¡thokn ¼?k½ dksbZ Hkh ugha 

 In which one of the following types of economy 

are the factors of production owned individually ? 

 (A) Socialist (B) Mixed 

 (C) Capitalist (D) None 

15. fuEufyf[kr esa ls dkSu&lk ,d LFkyc) iksrkJ; gS \ 1 

 ¼d½ fo'kk[kkiV~Vue ¼[k½ ,Uuksj 

 ¼x½ eqacbZ  ¼?k½ gfYn;k 

 Which one of the following is a landlocked 

harbour ? 

 (A) Visakhapatnam (B) Ennore 

 (C) Mumbai (D) Haldia 



 ( 10 ) 4313/(Set : C) 

4313/(Set : C)   

16. izokl ds tukafddh; ifj.kke D;k gSa \ 2 

 What are the demographic consequences of 

migration ? 

17. lapkj ls vkidk D;k rkRi;Z gS \ 2 

 What do you mean by Communication ? 

18. ue fcUnq cfLr;k¡ D;k gSa \ 2 

 What are Wet Point Settlements ? 

19. mÙkjh Hkkjr ds vf/kdka'k jkT;ksa esa ekuo fodkl ds fuEu Lrjksa 

ds nksnksnksnks  dkj.k crkb,A 3 

 Give two reasons for low levels of Human 

Development in most of the Northern States of 

India. 
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20. bafnjk xk¡/kh ugj deku {ks= dk flapkbZ ij D;k ldkjkRed 

izHkko iM+k gS \ 3 

 What are the positive impacts of Indira Gandhi 

Canal Command Area on Irrigation ? 

21. fo'o O;kikj laxBu (WTO) ds vk/kkjHkwr dk;Z dkSu&dkSu&ls          

gSa \  3 

 What are the basic functions of the World Trade 

Organisation ? 

22. Hkkjr dh tula[;k ds O;kolkf;d la?kVu dk fooj.k      

nhft,A 5 

 Give an account of the occupational structure of 

India's population. 
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vFkokvFkokvFkokvFkok 

OR 

 ekuoksa ds izkÑfrdj.k dh O;k[;k dhft,A 

 Explain Naturalization of Humans. 

23. Hkkjrh; Ñf"k dh leL;kvksa dk o.kZu dhft,A 5 

 Describe the problems of Indian Agriculture. 

vFkokvFkokvFkokvFkok 

OR 

 xgu fuokZg Ñf"k ls D;k vfHkizk; gS \ blds nksnksnksnks eq[; izdkjksa dk 

o.kZu djsaA 

 What is Intensive Subsistence Farming ? 

Describe its two main types. 
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24. Hkkjr ds isVªksfy;e lalk/kuksa ij ,d foLr`r fVIi.kh fy[ksaA  5 

 Write a detailed notes on the Petroleum 

Resources of India. 

vFvFvFvFkokkokkokkok    

OR 

 Hkkjr esa [kfut isfV;ksa ds forj.k dk o.kZu djsaA 

 Describe the distribution of Mineral Belts of 

India. 

25. Hkkjr esa lwrh oL= m|ksx dk o.kZu dhft,A 5 

 Describe the Cotton Textile Industry in India. 

vFkokvFkokvFkokvFkok    

OR 

 eqEcbZ&iq.ks vkS|ksfxd izns'k dk o.kZu dhft,A 

 Explain the Mumbai-Pune Industrial Region. 
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26. Hkw&fuEuhdj.k dks de djus ds mik; lq>kb,A 5 

 Suggest measures for reduction of land 

degradation. 

vFkokvFkokvFkokvFkok    

OR 

 ^ok;q iznw"k.k* ds dkj.k o izHkko dk o.kZu dhft,A 

 Describe the causes and effects of 'Air Pollution'. 

27.    fn, x, fo'ofo'ofo'ofo'o ds js[kk ekufp= ij fuEufyf[kr dks vafdr 

dhft, % 1 × 5 = 5 

 Show the following on the given outline map of 

the World :  

 (i) C;wul vk;lZ] 

  Buenos Aires, 

 (ii) yanu] 

  London,  
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 (iii) eqEcbZ gkbZ] 

  Mumbai High,  

 (iv) ikuhir] 

  Panipat,  

 (v) gfYn;kA 

  Haldia. 

! 


